AP Java Practice Quiz 11-19-2019




Name:_____________________________
I. Matching (1 pt each)

1. _F__ Class: 
      2. _H__ Object: 

3. _P__ Method


4. _M__ Static method:

5. _K__ Instantiation: 

6. _A___recursion 

7. __G__return

8. __O__double:

9. __N__ int: 

10._D__ System.out.println

11. _J__number1 = input.nextInt(); 

12. _L__ Primative type:

13. _B__ Private:

14. _I__Public: 

15. _C__Constructor: 

16. _E__ Function overloading:
[image: image1.png]Questions 2-3 refer to the following information.

Consider the following partial class declaration.

public class SomeClass

{
private int myA;
private int myB;
private int myC;

// Constructor(s) not shown

public int geta()
{ return myA; }

public void setB(int value)
{ myB = value; }

}
2. The following declaration appears in another class.

SomeClass obj = new SomeClass();

‘Which of the following code segments will compile without error?
(A) int x = obj.getA();

(B) int x;
obj.getA(x) ;

(C) int x = obj.myA;
(D) int x = SomeClass.getA();

(E) int x = getA(obj);





a) When a method calls itself.
b) Can only be accesses from within the object.

c) A method used in the creation of an object.

d) Command used to display information on the screen.

e) Having more than one method in an object with the same name, but different parameter lists.

f) A blueprint or prototype that defines the variables and the methods common to all objects of a certain kind.

g) Used to send a value back from a method
h) A software bundle of related variables and methods.
i) Can be accessed from anywhere, inside or outside the object.

j) Command used to get information from the user.

k) Creating an object of a class.
l) A type that is not an object.

m) A method that performs a task that does not need an object.
n) A type of variable that stores positive and negative whole numbers.

o) A type of variable that stores real numbers.

p) The part of an object that describes it’s behavior.  (Things it does)

Throughout exam, Sop means System.out.println.

II.  Give the output of the following: Assume variables are previously declared.
A.  public String doSomething(int value)

{

  if(value < 5)

    return "" + value;

  else

    return doSomething(value / 5) + (value % 5);

}

What will be returned by the call doSomething(33)?



B.  public void doSomething(int value)

{

  if(0 < value && value < 10)

  {

    doSomething(value – 1);

    doSomething(value + 1);

    System.out.print(" " + value);

  }

}

Which of the following will be printed as a result of the call doSomething(4)?



C.      public static int what (int num)

          {

               if (num % 2 == 0)

                   num = num + num;

               else

                   num =  num* 3;



return num;

          }

         
public static void main


{

               
int sum = 1;



for (pos = 1; pos < 6; pos++)



{





sum = sum + what(pos);

                      
Sop(pos+sum);

                
}

         
 }

C. public void change(int value)

{

  if(value < 5)

    System.out.print("" + value % 5);

  else

  {

    System.out.print("" + value % 5);

    change(value/5);

  }

}

What will be printed as a result of the call change(29)?

D. (A1.17). Consider the following method

public void doSomething(int value)

{

  if(0 < value && value < 10)

  {

    doSomething(value – 1);

    doSomething(value + 1);

    System.out.print(" " + value);

  }

}

Which of the following will be printed as a result of the call doSomething(4)?

III. Use the class defined below to solve the next problem: (2 points/ answer)

public class Counter 

{

            private int value = 0;  

            public void increment() 

    {           
               value++;

            }

            public int getValue() 

    {    

               return value;

            }

         } 

This problem uses the Counter class defined above. The following program segment is meant to simulate tossing a coin 100 times. It should use two Counter objects, headCount and tailCount, to count the number of heads and the number of tails. Fill in the blanks so that it will do so.

Counter headCount, tailCount;

tailCount = new Counter();

headCount = new Counter();

for ( int flip = 0;  flip < 100;  flip++ ) 

{

   if (Math.random() < 0.5)// There's a 50/50 chance that this is true.

             __headCount.increment();____ ;   // Count a "head".

   else

             ____tailCount.increment();___ ;   // Count a "tail".

}

System.out.println("There were " + __headCount.getValue()_ + " heads.");

System.out.println("There were " + _tailCount.getValue()__________ + " tails.");
[image: image7.png]


[image: image2.png]4. Consider the following code segment.

int x
int y

7;
3;

if ((x < 10) && (v < 0))
System.out.println("Value is: " + x * y);
else
System.out.println("Value is: " + x / y);
‘What is printed as a result of executing the code segment?
(A) Value is: 21
(B) Value is: 2.3333333
(C) Vvalue is: 2
(D) Value is: 0
(E) Value is: 1



[image: image3.png]6. Consider the following method that is intended to determine if the double values dl and 42 are close
enough to be considered equal. For example, givena tolerance of 0.001, the values 54.32271 and
54.32294 would be considered equal.

/** @return true if d1 and @2 are within the specified tolerance,

* false otherwise

*/

public boolean almostEqual (double dl, double d2, double tolerance)
{

/* missing code */

}
‘Which of the following should replace /* missing code */ sothat almostEqual will work as
intended?
(A) return (d1 - d2) <= tolerance;
(B) return ((dl + d2) / 2) <= tolerance;
(C) return (d1 - d2) >= tolerance;
(D) return ((dl + d2) / 2) >= tolerance;

(E) return Math.abs(dl - d2) <= tolerance;



[image: image4.png]7. Consider the following class declaration.

public class Person

{
private String myName;
private int myYearOfBirth;

public Person(String name, int yearOfBirth)
{

myName = name;

myYearOfBirth = yearOfBirth;
}

public String getName ()
{ return myName; }

public void setName(String name)
{ myName = name; }

// There may be instance variables, constructors, and methods that are not shown.
}

Assume that the following declaration has been made.
Person student = new Person("Thomas", 1995);

‘Which of the following statements is the most appropriate for changing the name of student from
"Thomas" to "Tom" ?

(A) student = new Person("Tom", 1995);

(B) student.myName = "Tom"; -

(C) student.getName ("Tom") ;

(D) student.setName ("Tom") ;

(E) Person.setName ("Tom") ;




[image: image5.png]8. Consider the following class declaration.

public class Student

{
private String myName;
private int myAge;

public Student()
{ /* implementation not shown */ }

public Student(String name, int age)
{ /* implementation not shown */ }

// No other constructors
}

‘Which of the following declarations will compile without error?

I. Student a = new Student();

1. Student b = new Student("Juan", 15);
Ill. Student c = new Student("Juan", "15");
(A) Tonly

(B) Il only

(C) Tand IT only
(D) Tand IIT only
(E) L1, and TIT




1. What attributes do all real world objects have?

 A.    Objects have identity, state, and behavior.

 B.    Objects have state and behavior.

 C.    Objects have size and weight.

 D.    Objects have existence.

2. What attributes do all Software objects have?

 A.    Software objects have RAM, ROM, and processors.

 B.    Software objects have identity, state, and behavior.

 C.    Software objects have variables and storage.

 D.    Software objects are made of computer components.

3. What is the defining characteristic of a von Neumann computer?

 A.    RAM is used for data and ROM is used for programs.

 B.    It has both a processor chip and memory.

 C.    General purpose memory is used to store both programs and data.

 D.    It uses general purpose registers for arithmetic.

4. When you run a Java application by typing java someClass what is the first method that starts?

 A.    The main() method of someClass.

 B.    The run() method someClass.

 C.    The someClass method.

 D.    The applet method.

5. What is a class?

 A.    A class is a section of computer memory containing objects.

 B.    A class is a section of the hard disk reserved for object oriented programs.

 C.    A class is the part of an object that contains the variables.

 D.    A class is a description of a kind of object.

6. What is another name for creating an object?

 A.    instantiation

 B.    insubordination

 C.    initialization

 D.    inheritance

7. What are the static variables and methods of a class?

 A.    Variables and methods that form the foundation of each object of that class.

 B.    Variables and methods that belong to all objects in the computer system.

 C.    Variables and methods that belong only the objects of that class.

 D.    Variables and methods that are part of the class definition, but not of its objects.

8. Which of the following invokes the method length() of the object str and stores the result in val?

 A.    val = str.length() ;

 B.    val = length.str() ;

 C.    val = length().str ;

 D.    val = length( str ) ;

9. How many objects of a given class may be constructed in an application?

 A.    Only one per constructor.

 B.    As many as the application asks for.

 C.    Only one per class.

 D.    One object per variable. 
10. Which of the following is correct?

 A.    String alpha("Hello Quiz!") ;

 B.    String = "Hello Quiz!" ;

 C.    String alpha = new "Hello Quiz!" ;

 D.    String alpha = "Hello Quiz!" ;
Coding

Write the class definition for the following object,

   Number object

Class constants: 

MAX set to 1000000

MIN set to -1000000


Instance Variable: num an integer


Constuctors



Default set to 0



Sent an integer

Methods



.equals()




 a.equals(b) returns true of the Number objects a and b store the same integer value, and 

false otherwise



.compareTo()




a.compareTo(b) returns -1 of the Number object a is less than Number object b, returns 1 

if Number object a is greater than Number object b and returns 0 if Number object a equals 

Number object b.



.intValue()




a.intValue() returns the integer value of a’s instance variable num.



.toString()




Returns a String representation of the data.

[image: image6.png]public class Number

{

public static final int MAX
public static final int MIN

private int num;
public Number ()
{
num = 0;
}
public Number (int temp)
{

num = temp;

1000000 ;
-1000000;

}
public boolean equals(int temp)
{
return temp == num;
}
public int compareTo(int temp)
{
if (num == temp)
return 0;
else if(num < temp)
return -1;
else
return 1;
}

public int intValue()
{

return num;

}
public String toString()

{

return ""+ num;




Answer: {4 pts}  
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Answer: {4 pts}  


Nothing is printed, infinite recursion
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Answer: {4 pts}  4 0 1








Answer: {4 pts}  


Nothing printed infinite recursion








